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Entrance Ticket: Unit 3, Lesson 7
W.8.1b
(Answers for Teacher Reference)
Directions: As you enter class, read Proof Paragraph 1 from the Model Essay: “Transportation Choices,” and complete the tasks and question that follow it.

Public transportation makes sense because it is less expensive than other forms of travel. Cars, in particular, are very expensive to own and operate. A 2013 article in USA Today states that “on average, the cost of driving 15,000 miles a year rose 1.17 cents to 60.8 cents per mile, or $9,122 per year” (USA Today). Driving a car is expensive in many ways. The driver has to pay for gas, insurance, and maintenance, all on top of the car payment itself. That’s a huge expense. Taking the bus every day costs significantly less than that. So does travelling by train or light rail. A monthly transit pass in Denver, for example, is just $99, or $1,200 per year for an individual (RTD Denver). Even for a family of five, that would be significantly more affordable than owning a car. Also, many companies provide discounts or incentives to employees who take public transportation. This makes the cost come down even further. Saving money is important to people. Money that is spent on a car is money that is not available for other things. Using public transportation frees up more money to people for other needs. *Once all of the factors have been considered, it’s evident that public transportation is the best choice because it saves money.*
Underline the opening sentence of the Proof Paragraph. 
*Star* the closing sentence of the Proof Paragraph.

What role do these two sentences play in a Proof Paragraph? 

The opening sentence states the reason that supports the main claim, and the closing sentence in each Proof Paragraph restates the reason that supports the main claim. 
Underlining and asterisk represent student responses.
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Directions: As you enter class, read Proof Paragraph 1 from the Model Essay: “Transportation Choices,” and complete the tasks and question that follow it.
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Underline the opening sentence of the Proof Paragraph. 
*Star* the closing sentence of the Proof Paragraph.

What role do these two sentences play in a Proof Paragraph? 
Analyze the Model: Proof Paragraph Planner
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(Example for Teacher Reference)

Directions: Read each chunk of text from Proof Paragraph 1. Then, label which part of the “evidence sandwich” each chunk of text corresponds to, and identify the job that chunk plays in the paragraph.

	Chunk of Proof 
Paragraph Text
	Sandwich Part
	Job in Paragraph

	Public transportation makes sense because it is less expensive than other forms of travel.
	Bread

	Reason


	Cars, in particular, are very expensive to own and operate. A 2013 article in USA Today states that “on average, the cost of driving 15,000 miles a year rose 1.17 cents to 60.8 cents per mile, or $9,122 per year” (USA Today). Driving a car is expensive in many ways. The driver has to pay for gas, insurance, and maintenance, all on top of the car payment itself. That’s a huge expense. Taking the bus every day costs significantly less than that. So does travelling by train or light rail. A monthly transit pass in Denver, for example, is just $99, or $1,200 per year for an individual (RTD Denver).
	Filling

	Evidence (with context introducing it)


	Even for a family of five, that would be significantly more affordable than owning a car. Also, many companies provide discounts or incentives to employees who take public transportation. This makes the cost come down even further. Saving money is important to people. Money that is spent on a car is money that is not available for other things. Using public transportation frees up more money to people for other needs. Once all of the factors have been considered, it’s evident that public transportation is the best choice because it saves money.
	Bread
	Reasoning



Plan Proof Paragraphs

Proof Paragraph 1
What is your reason?

· Grass-fed beef better choice for health

What is your evidence?

· Most beef from corn-fed cattle; grass-fed beef is healthier option

· Cows/other animals that eat grass > essential nutrients for animals/humans

· “Green grass has large quantities of beta-carotene, vitamin E and folic acid. These natural chemicals are important for a healthy diet” (Pollan 229).

· Grass instead of corn = high level of these nutrients; this is passed to humans

· Grass-fed beef: higher levels of omega-3 fatty acids; healthier fats for humans

· “Corn-fed beef contains more saturated fats than the meat of grass-fed animals. Too much saturated fat has been linked to heart disease and other health problems” (Pollan 71).

What is your reasoning?

· Healthier: grass instead of corn

· Grass-fed beef is healthier meat > makes people healthier

· All of the health benefits from grass-fed beef = better choice

Proof Paragraph 2
What is your reason?

· Grass-fed beef better for farms and environment

What is your evidence?

· Farms: more sustainable system

· Cows/grasses evolved to create a successful ecological system.

· Example: cows that graze and eat grasses (instead of being confined) don’t kill the plants.

· Cows protect habitat: eat shrubs/trees that would compete with grasses

· Spread grass seed and fertilize it with manure (Pollan 65).

· System benefits the cow/grazing land = healthy ecosystem

· Environment: grass-fed beef is better.

· “The animals’ wastes drop onto the land, becoming nutrients for the next cycle of crops. In feedlots and other forms of factory farming, however, the animals’ wastes build up in enormous quantities, becoming a staggering source of water and air pollution” (foodrevolution.org).

What is your reasoning?

· Eating grass-fed beef part of a sustainable system.

· healthy environment

· no harmful chemicals for animals/plants/people

· win-win: benefits individual and farms/environment

Sources:

Copeland, Larry. “The Cost of Owning Your Car? $9,000 a Year.” USAToday.com, 16 April 2013. Web. 

Pollan, Michael. The Omnivore’s Dilemma (Young Readers Edition). Penguin Young Readers, 2009.

RTD Denver. “Monthly Pass Information.” RTD-Denver.com, 2018. Web.
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Directions: Read each chunk of text from Proof Paragraph 1. Then, label which part of the “evidence sandwich” each chunk of text corresponds to, and identify the job that chunk plays in the paragraph.

	Chunk of Proof 
Paragraph Text
	Sandwich Part
	Job in Paragraph

	Public transportation makes sense because it is less expensive than other forms of travel.
	
	

	Cars, in particular, are very expensive to own and operate. A 2013 article in USA Today states that “on average, the cost of driving 15,000 miles a year rose 1.17 cents to 60.8 cents per mile, or $9,122 per year” (USA Today). Driving a car is expensive in many ways. The driver has to pay for gas, insurance, and maintenance, all on top of the car payment itself. That’s a huge expense. Taking the bus every day costs significantly less than that. So does travelling by train or light rail. A monthly transit pass in Denver, for example, is just $99, or $1,200 per year for an individual (RTD Denver).
	
	

	Even for a family of five, that would be significantly more affordable than owning a car. Also, many companies provide discounts or incentives to employees who take public transportation. This makes the cost come down even further. Saving money is important to people. Money that is spent on a car is money that is not available for other things. Using public transportation frees up more money to people for other needs. Once all of the factors have been considered, it’s evident that public transportation is the best choice because it saves money.
	
	


Plan Proof Paragraphs

Proof Paragraph 1
What is your reason?

What is your evidence?

What is your reasoning?

Proof Paragraph 2
What is your reason?

What is your evidence?

What is your reasoning?
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